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A company's revenue for selling x (thousand) items is given by R(x) =

Find the value of x that maximizes the revenue and find the maximum revenue.
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A sheet of paper 72 cm-by-78 ¢cm is made into an open box (i.e. there's no top), by cutting x-cm square:
out of each corner and folding up the sides. Find the value of x that maximizes the volume of the box.
Give your answer in the simplified radical form.
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A sheet of paper,#Z cm-by-78cm is made into an open box (i.e. there's no top), by cutting x-cm squar
out of each corner and folding up the sides. Find the value of x that maximizes the volume of the box.
Give your answer in the simplified radical form.
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Determine values of ¢ and b that make the given function continuous.
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Compute the derivative of f(x) =
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Find the derivative of the function f(x)="7e T3
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Compute the derivative of f(x) = 5co
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ind the slope of th gent line e point (2, 3) fo ellipse 7x 2 4 4y 2 = 64.
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Find the derivative y '(x) implicitly for the equation
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Find a value of ¢ satisfying the conclusion(®f the Mean Value The@

Write your answer in radical form.
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Find a value of ¢ satisfying the conclusion of the Mean Value Theorem.

Write your answer in radical form.
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Find all critical numbers and use the S
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Determine the intervals where the graph of f(x )= 3x + 4/x is concave up and concave

down.
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/ \3 37\<~\ gM*H\ T

NORHMAL FLOAT AUTO a+bi RADIAN MP n

dow




A sheet of paper 8''—by—18"" is made into an open box (i.e. there's no top), by cutting x—in.
squares out of each corner and folding up the sides. Find the value ofc that maximizes the
volume of the box. iy
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Find m antiderivative. Use ¢ as the constant of mtegl ation.
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Evaluate J.(Q cos x + 10x 10) dx . Use ¢ as the constant.
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A sheet of paper 4""-bv-18"" is made into an open box (ie. there's no
squares out of each corner and folding up the sides. Find the value o

volume of the box.
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Determine where the graph of fix) = 2x3 +15x% + 30x — 67 is concave down.
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Compute the derivative of f{x) = sinh? (9x).
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Determine where the graph o ff( y=2x? +30x% —18x -31i
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A car is traveling at 50 mph due south at a point 1/2 mile north of an intersection. A police car
is traveling at 40 mph due west at a point 1/4 mile due east of the same intersection. At that
instant, the radar in the police car measures the rate at which the distance between the two

cars is changing. What does the radar gun register? Round your answer to three decimal
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Find the general antider ive. Use nstant of integration
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Write in summation notation: the sum of the first 360 odd positive integ
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Sum the values of f{x) = 14 1 evaluated at x =(0.125, x =0.25, ..., x =0.75
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